m3 330. 330

m3 178. 180

m3 472. 470
RC-40 t=200 m2 1101. 1100
M-40 t=150 m2 1101. 1100

As

=50 m2 1120. 1120

m 9. 10

m3 600. 600

m3 232. 230

m2 563. 564
400><700

m 4. 4
400> 800

m 3. 3
900>=<700

m 16. 17
900>=<800

m 4. 4
900>=<900

m 3. 3
1500><600

m 18. 18
1500><700

m 116. 116
1500><800

m 85. 85
400><700

m 12. 12
600>=<800

m 1. 1

m3 34. 34
400><400><1000 2. 2
400><400><1000 1. 1
1000><1500>< 1000 1. 1
1000><2500>< 1200 1. 1




1.0 1

W=15cm m 19.7 20

m3 3.9 4

m3 4.3 4

m3 53.3 53

m3 2.1 2

As t=15cm m2 934.5 935
As t=15cm m 14.1 14
=50 150mm m 45.4 45

Co m3 53.3 53

Co m3 2.1 2

As m3 46.7 47
kg 83.5 84

m3 0.02 0.02




m3 330.5 330.5 a

m3 178.9 178.9 c

m3 600.4 3.9 604.3

m3 232.7 4.3 237.0 d
(atb)-

m3 472.7| (c+d)/0.9




m3

330.5

330.5

m3

178.9

178.9




NO.-1+14.3 0.0 .1
NO.0 5.7 -1 .10 6.3
NO.1 20.0 .2 .15 23.0
NO.2 20.0 -3 .25 25.0
NO.3 20.0 .2 .25 25.0
NO.4 20.0 .2 .20 24.0
NO.5 20.0 .3 .25 25.0
NO.6 20.0 -3 .30 26.0
NO.7 20.0 .2 .25 25.0
NO.8 20.0 .2 .20 24.0
NO.9 20.0 .2 .20 24.0
NO.10 20.0 .2 .20 24.0
NO.11 20.0 .2 .20 24.0
NO.12 20.0 .6 .40 28.0
NO.13 20.0 .7 .15 23.0
E.P 6.0 7 .70 4.2
271.7 330.5




NO.-1+14.3 0.0 0.0
NO.0 5.7 0.0 0.00 0.0
NO.1 20.0 0.8 0.40 8.0
NO.2 20.0 0.7 0.75 15.0
NO.3 20.0 0.7 0.70 14.0
NO.4 20.0 0.7 0.70 14.0
NO.5 20.0 0.8 0.75 15.0
NO.6 20.0 0.8 0.80 16.0
NO.7 20.0 0.8 0.80 16.0
NO.8 20.0 0.8 0.80 16.0
NO.9 20.0 0.8 0.80 16.0
NO.10 20.0 0.3 0.55 11.0
NO.11 20.0 0.3 0.30 6.0
NO.12 20.0 1.0 0.65 13.0
NO.13 20.0 0.5 0.75 15.0
E.P 6.0 0.8 0.65 3.9
271.7 178.9




RC-40 t=200 m2 1101.0 1101.0
M-40 t=150 m2 1101.0 1101.0
As t=50] m2 1120.9 1120.9




t=20cm t=15cm As t=5cm
(m (m) (m2) (m) (m) (m2) (m (m) (m2)

NO.-1+13.8 0.0
NO.-1+14.3 0.5 1.6 1.6 1.6 -1, -2
NO.-1+14.9 0.6
NO.1 25.1 4.07 109.8 4.07 109.8 4.07 129.7 -1, -2
NO.2 20.0 4.09 4.081 81.6 4.09 4.081 81.6 4.09 4.081 81.6
NO.3 20.0 4.07 4.081 81.6 4.07 4.081 81.6 4.07 4.081 81.6
NO.4 20.0 4.10 4.087 81.7 4.10 4.087 81.7 4.10 4.087 81.7
NO.5 20.0 4.08 4.091 81.8 4.08 4.091 81.8 4.08 4.091 81.8
NO.6 20.0 4.04 4.061 81.2 4.04 4.061 81.2 4.04 4.061 81.2
NO.7 20.0 4.03 4.036 80.7 4.03 4.036 80.7 4.03 4.036 80.7
NO.8 20.0 4.06 4.043 80.9 4.06 4.043 80.9 4.06 4.043 80.9
NO.9 20.0 4.05 4.055 81.1 4.05 4.055 81.1 4.05 4.055 81.1
NO.10 20.0 4.01 4.029 80.6 4.01 4.029 80.6 4.01 4.029 80.6
NO.11 20.0 4.00 4.003 80.1 4.00 4.003 80.1 4.00 4.003 80.1
NO.12+1.6 21.6 120.0 120.0 120.0
NO.12+3.1 1.5
E.P 22.9 58.3 58.3 58.3 -3
CAD

-1

-2

-3

272.2 1101.0 1101.0 1120.9




9.48

9.5




NO.O + 12.15

NO.0 + 18.85

9.48

9.48




10.0 m
150 WEERIOw S
(150 x 150 x 600)
o
2
: S
N sl 3
o
i
HLavsy—+F
(18-8-25BB)
50‘ 150 R4
(RG-40)
50 200
250
C
150> 150>=<600 10.0/0.605 16.5
1 3 0.150><0.010><10.0 0.015 m3
18-8-25BB 0.200><0.100><10.0 0.200 m3
0.100><2><10.0 2.000 m2
RC-40
t=10cm 0.250><10.0 2.500 m2




( ) m3 600.4 600.
( ) m3 232.7 232.

m2 563.9 563.
400>700

m 4.00 4.
400><800

m 3.29 3.
900><700

m 16.51 16.
900><800

m 4.00 4.
900><900

m 3.14 3.
1500><600

m 18.00 18.
1500><700

m 116.00 116.
1500><800

m 85.23 85.
400><700

m 12.00 12.
600><800

m 1.00 1.

m3 34.16 34.
400><400><1000 2.0 2.
400><400><1000 1.0 1.
1000>1500><1000 1.0 1.
1000>=2500><1200 1.0 1.

1.0




VS 0.0 0.9 0.8
NO.0 8.7 0.9 0.90 7.8 0.8 0.80 7.0
NO.1 20.0 2.1 1.50 30.0 2.2 1.50 30.0
NO.2 20.0 2.0 2.05 41.0 2.2 2.20 44.0
NO.3 20.0 2.3 2.15 43.0 2.2 2.20 44.0
NO.4 20.0 2.3 2.30 46.0 2.2 2.20 44.0
NO.5 20.0 2.0 2.15 43.0 2.2 2.20 44.0
NO.6 20.0 2.2 2.10 42.0 2.2 2.20 44.0
NO.7 20.0 2.1 2.15 43.0 2.2 2.20 44.0
NO.8 20.0 2.5 2.30 46.0 2.2 2.20 44.0
NO.9 20.0 2.3 2.40 48.0 2.2 2.20 44.0
NO.10 20.0 3.1 2.70 54.0 2.2 2.20 44.0
NO.11 20.0 3.0 3.05 61.0 2.2 2.20 44.0
NO.12 20.0 2.1 2.55 51.0 2.2 2.20 44.0
NO.13 20.0 1.7 1.90 38.0 .5 1.85 37.0
E.P(VS 3.9 1.7 1.70 6.6 1.5 1.50 5.9
272.6 600.4 563.9




VS 0.0 0.8
NO.0 8.7 0.8 0.80 7.0
NO.1 20.0 0.8 0.80 16.0
NO.2 20.0 0.7 0.75 15.0
NO.3 20.0 0.8 0.75 15.0
NO.4 20.0 0.8 0.80 16.0
NO.5 20.0 0.8 0.80 16.0
NO.6 20.0 0.8 0.80 16.0
NO.7 20.0 0.8 0.80 16.0
NO.8 20.0 0.9 0.85 17.0
NO.9 20.0 0.9 0.90 18.0
NO.10 20.0 1.0 0.95 19.0
NO.11 20.0 1.0 1.00 20.0
NO.12 20.0 1.1 1.05 21.0
NO.13 20.0 0.7 0.90 18.0
E.P(VS 3.9 0.7 0.70 2.7
272.6 232.7




1)

400><700 NO.O 4.31 NO.0O + 8.31 4.00
4.00

400>=<800 NO.O 8.31 NO.0 + 11.60 3.29
3.29

900><700 NO.12 7.60 NO.13 + 4.11 16.51
16.51

900>=<800 NO.12 + 3.60 NO.12 + 7.60 4.00
4.00

900><900 NO.12 + 0.69 NO.12 + 3.60 3.14
3.14

1500>=<600 NO.1 10.00 NO.2 + 8.00 18.00
18.00

1500><700 NO.1 0.00 NO.1 + 10.00 10.00
NO.2 8.00 NO.7 + 14.00| 106.00

116.00

1500><800 NO.7 14.00 NO.11 + 19.23 85.23
85.23

400>=<700 NO.-1 + 14.62 NO.-1 + 14.62 2.89
NO.-1 + 14.93 NO.O + 3.70 9.11

12.00

600><800 NO.12 + 0.21 NO.12 + 1.03 1.00
1.00




(@)

(400><400><1000) B1 NO.-1 + 14.62  NO.-1 + 14.93
B2 NO.O + 3.70 NO.O + 4.31
(400><400><1000) B3 NO.O + 11.60  NO.0 + 12.30
(1000><1500><1000) B4 NO.0 + 18.70  NO.1 + 0.00
(100025001200 B5| L [NO.11 + 19.23  NO.12 + 0.69

NO.O + 12.30  NO.0 + 18.70
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400><700 10.0 m
610
105_ 400 105
BB EREE ()
400 xH
g T = E®EIVU—F
& = 18-8-258B
Hgavoy—+
= 18-3-2588
it} 4
8 - LRRE
= RC-40
50 b 50
B

400>700 10.0/2.0 5.00
18-8-25BB m3
18-8-25BB 0.640>=<0.100><10.0 0.640 m3

0.100><2>10.0 2.000 m2
RC-40 t=10cm 0.740>=<10.0 7.400 m2
L=0.5m 5>2>0.8 8.0
L=0.5m T-25 5>2>0.2 2.0




400><800 10.0 m
610
105_ 400 105
BB EREE ()
400 xH
g T = E®EIVU—F
& = 18-8-258B
Hgavoy—+
= 18-3-2588
it} 4
8 - LRRE
= RC-40
50 b 50
B

400><800 10.0/2.0 5.00
18-8-25BB m3
18-8-25BB 0.640>=<0.100><10.0 0.640 m3

0.100>=<2>10.0 2.000 m2
RC-40 t=10cm 0.740>=<10.0 7.400 m2
L=0.5m 5>2>0.8 8.0
L=0.5m T-25 5>2>0.2 2.0




900><700 10.0 m
1140
120 900
8 - X T
+ = D13 L=1240
_ _J m
& EE®IOY—+
18-8-25BB
~ EEaIVIU—F
18-8-25BB
S AERE
RC-40
199 1340 (100
1540
900><700
10.0/2.0>0.8 4.00
900><700
10.0/2.0><0.2 1.00
18-8-25BB 1.340>0.150>10.0 2.010 m3
0.150>2>10.0 3.000 m2
D13 SD345 1.240>0.995kg/m>< 50 61.69 kg
D10 SD345 10.000><0.560kg/m><6 33.60 kg
RC-40 _t=20cm 1.540>10.0 15.400 m2

18-8-25BB

m3




900><800 10.0 m
1140
120 900
8 - X T
+ = D13 L=1240
_ _J m
& EE®IOY—+
18-8-25BB
~ EEaIVIU—F
18-8-25BB
S AERE
RC-40
199 1340 (100
1540
900><800
10.0/2.0>0.8 4.00
900><800
10.0/2.0><0.2 1.00
18-8-25BB 1.340>0.150>10.0 2.010 m3
0.150>2>10.0 3.000 m2
D13 SD345 1.240>0.995kg/m>< 50 61.69 kg
D10 SD345 10.000><0.560kg/m><6 33.60 kg
RC-40 _t=20cm 1.540>10.0 15.400 m2

18-8-25BB

m3




900><900 10.0 m
1140
120 900
8 - X T
+ = D13 L=1240
_ _J m
& EE®IOY—+
18-8-25BB
~ EEaIVIU—F
18-8-25BB
S AERE
RC-40
199 1340 (100
1540
900><900
10.0/2.0>0.8 4.00
900><900
10.0/2.0><0.2 1.00
18-8-25BB 1.340>0.150>10.0 2.010 m3
0.150>2>10.0 3.000 m2
D13 SD345 1.240>0.995kg/m>< 50 61.69 kg
D10 SD345 10.000><0.560kg/m><6 33.60 kg
RC-40 _t=20cm 1.540>10.0 15.400 m2

18-8-25BB

m3




1500><600 10.0 m
1760
130 1500 130
g = 485
Bl D16 L=1860
2 enm
3 D13 L=10000
§ ERIHVY—F
18-8-25BB
EREavHoy—+
18-8-25BB
. _EZRE
RC-40
(104 1960 04
2160

1500600

10.0/2.0%0.8 4.00
1500600

10.0/2.00.2 1.00
18-8-2588 1.960><0.200>10.0 3.920 13

0.200>25¢10.0 4.000 m2
D16 SD345 1.860><1.560kg/m><40 116.06 kg
D13 SD345 10.000><0.995kg/m><9 89.55 kg
RC-40 t=20cm  |2.16010.0 21.600 m2

18-8-25BB

m3




1500><700 10.0 m
1760
130 1500 130
g = 485
Bl D16 L=1860
2 enm
3 D13 L=10000
§ ERIHVY—F
18-8-25BB
EREavHoy—+
18-8-25BB
. _EZRE
RC-40
(104 1960 04
2160

1500700

10.0/2.0%0.8 4.00
1500700

10.0/2.00.2 1.00
18-8-2588 1.960><0.200>10.0 3.920 13

0.200>25¢10.0 4.000 m2
D16 SD345 1.860><1.560kg/m><40 116.06 kg
D13 SD345 10.000><0.995kg/m><9 89.55 kg
RC-40 t=20cm  |2.16010.0 21.600 m2

18-8-25BB

m3




1500><800 10.0 m
1760
130 1500 130
g = 485
Bl D16 L=1860
2 enm
3 D13 L=10000
§ ERIHVY—F
18-8-25BB
EREavHoy—+
18-8-25BB
. _EZRE
RC-40
(104 1960 04
2160

1500800

10.0/2.0%0.8 4.00
1500800

10.0/2.00.2 1.00
18-8-2588 1.960><0.200>10.0 3.920 13

0.200>25¢10.0 4.000 m2
D16 SD345 1.860><1.560kg/m><40 116.06 kg
D13 SD345 10.000><0.995kg/m><9 89.55 kg
RC-40 t=20cm  |2.16010.0 21.600 m2

18-8-25BB

m3




400><700 10.0 m
630
115_ 400 115
FL—F U
T-25
1
E 7
9 ! ; B DE A (1)
= . 300 xH
8 T = EEIDY—t
= = 18-8-2588
#Ravoy—+t
18-8-2568
s ERERE
= /" RG-40
50 b 50
B
400>700 10.0/2.0 5.00
18-8-258BB m3
18-8-258BB 0.700><0.100><10.0 0.700 m3
0.100>=<2><10.0 2.000 m2
RC-40 t=10cm 0.800><10.0 8.000 m2
L=1.0m T-25 5 5.0




600><800

10.0 m

860

130, 600

130

TJL—FLI&
T-25

3 - E5 e SR (H)
- EERaH2U—b
= = 2 18-8-25BB
= - B#a o yY—F
- 18-8-2508
- Al - ERRE
5/ RG-40
5 b 50
B
400700 10.0/2.0 5.00
18-8-258B n3
18-8-258B 0.900>0.150>10.0 1.350 m3
0.150=2>10.0 3.000 m2
RC-40 t=15cn 1.000>10.0 10.000 m2
L=1.0m T-25 5 5.0




400><400><1000 10.0
FEE A-ABRE
B H 100 100
bl B 65 H
2b. h1 =50
-(,;‘ B
= e = I —
[ i .
Aol s b . 1 .
- i ! ] - | e
o I
ok — D N
<L =
B-BBfrE
B
bl B
p2o3
3 b
/‘4
. // EEa oY —h
= = // 18-8-2568
‘ E#avU—+F
- 18-8-2588
X’H;T I 7T ‘ HBRT
g = e RG-40
= b /|
U
pol b4 pd
bd
400><400><1000 10 10
18-8-25B8B 0.710><0.710>=<0.100>=<10.0 0.500 m3
0.710><0.100>=<4><10.0 2.840 m2
RC-40 t=10cm 0.810><0.810>=<10.0 6.560 m2
(0.400>=0.400>=0.187)+(0.400><0.400
18-8-25B8B ><0.195)/2>=<10.0 0.305 m3
T-25 110< 10 10




400><400><1000

RC-40
EVA 100
18-8-2588

2BBE 800

150

1g

1150

150

1150

939
[
939

12470
124f7

600 70124

150

800
100
400

150

N

BT

avsy

JE
400x 400/ T-25°\

HBE B85
D13 (=550 D13 (=550

pod_pex)

100

2f =

150 avg Y=k
T
BMPE

=

9060
L

I3

400

150

600

939

100
800

700

400

ARG LT
D13 L=550\ D13 L=550

1150

70124
(701 2.4

939
(00
(00

939

145
145

150
150

150

150 400 150 avoy—=*r
18-8-258B
700 ZEBRE

RC-40

800

18-8-25BB

0.700><0.700><1.150-(0.400><0.400
><0.939+0.520><0.520><0.061+0.400
><0.600><0.150+0.400><0.600><0.150)

0.325 m3

0.700><1.150><4+0.400>=<0.939>=<4
-(0.400><0.600><2+0.400><0.600><2)
+(0.150><0.600><2+0.150><0.600><2)

4.122 m2

D13 SD345

0.550><0.995kg/m>=<2><2

2.2 kg

RC-40 t=15cm

0.800><0.800

0.640 m2

400><400

1.0




1000><1500><1000

1.0

1900

ZRPE

1400

1300

Te-4-2588

40
EPZ DT 3

1150

322502150 _w]

494

=

139)
140

600
600

o

Iyw
4

1150

Jro

1800

200 18

-

§%260=1260
1500

1y 2

FT 15
EPZ Y 1o
Ti-1-7568

=

i

3%250=750 35

1150

FL—F 08
THO= 15008 1-25-

1800

1150

150

1500

150

1000
1150 150
1300 35 3 x 250=150 :
150 1000 150 [ 834 150 i%m
ﬁ
ol 30| 1 A @
gl EE
o
b
N
E =i = Tx ==
- pe=ae—— = 3 2B M =g
mtri—+—H M
| I | | il
I N ] |
H 4 H——4—H g H g
ey 1 g g 8 g 2
TTT T - E il o E
I I M
I N ] |
4 mtri—+—H 2 I M =
Z I I I  — o; =~ L oi i
2z z

1800

1900

1 1000 130 47 00 140
; 200 3% 250=750 200 5 08 834 150/
1300 1150 150!
0 1000
5 5
= 2l
= = -
s d—x ¢
S gl z| g =
s 2 R E
8 E 7
N —
= =i
B
N bt

1 1000 130 avgy—t
T5-3-588
14 200 3% 2502750 200 3 EZRRE

18-8-25BB

1.300><1.800><1.150-(1.000>=<1.500
><0.894+1.120><1.620><0.106+1.500
><0.600><0.150+1.500><0.600><0.150)

0.888 m3

(1.300+1.800) ><1.150><2+(1.000+1.500)
><0.894><2-(1.500><0.600><2+1.500
><0.600>2)+(0.150>0.600><2+0.150
><0.600><2)

8.360 m2

D13 SD345

4
46.904

46.9 kg

RC-40 t=15cm

1.400><1.900

2.660 m2

1000><1500
T-25 3

1.0




1000><2500>=<1200 1.0

1500

200

10
z e
H 2
o z
- z
2 2
£ =
H ?. - | &
2| E gl - o E 2
g s P :L:I_
g J LL ]
1000
0 1400
1o
1084 o 0
240 100 7084 ligsd
TL—Fud%
a 1000 Zo0M 1-2
1. (s =
117 ¥ I H
| = gy
11
iyl
I 1
I =
|5 5 i 11 g -
L & A M| _\_ H
- [T
= —
11
slinnn
= IR
i et 8 8
— Bl il sl A= - i — el
L L Lk f ElE
8 000 2 Y T
1094 0 109 2% 250-750 25 )0 ol 1094 200
axzme100m 00 o uon
™
7 000 2 n
El I | ] I —
3 W 7 s H
Baoew
_ZW
- )
= = 50 1130 2
2| 8| - pum ]
- _ﬁ\iu
0 g
H St
i £
l i R Anceacns LT
8 000 2
100 2% 3%250-750 25 )0
oo
1500

1.400><2.900><1.400-(1.000>=<2.500
><1.094+1.120><2.620><0.106+1.817
><0.700><0.200+1.000><0.700>=<0.200
18-8-25BB +0.750><0.600><0.200) 2.154 m3

(1.400+2.900) ><1.400>2+(1.000+2.500)
><1.094><2-(1.817>0.700><2+1.000
>0.700><2+0.750><0.600><2)+(0.200

>0.700><2+0.200< (0.700+0.600+0.100)) 15.414 m2
5

D13 SD345 86.705 86.7 kg
RC-40 t=20cm 1.500><3.000 4.500 m2
10002500
T-25 5 1 1.0
W=300, @19
G30SW-RF 2 2.0

@28 L=90mm 2><2 4.0




1.0

1 3
600><600T-
14, @200,
2800><2000>< 2000 1=300 1 1.0
600><600,
2800><2000>< 2000 @200 1 1.0
600><600T-
2800><2000><2000 [**: W=300 g 1.0
2800><2000><2000
400>1000 |1 1.0
2800><2000><2000
1500><1000 |1 1.0
1 1.990><0.150><1.490>2+(1.643+1.640)/2
18-8-25BB >0.150><3.000 1.628 m3
1 1.990><1.490><2>2+(1.643+1.640)/2
>3.000><2 21.709 m2
1 2
D13 SD345 79.910 79.9 kg
1
20><10><15mm (1.990+1.490) ><2 6.960 m
1
{(1.990+1.490><2) > 2+0.555+0.561}>0.1 1.106 ¢
1
10><10mm (1.990+1.490><2) ><2+0.555+0.561 11.056 m
(0.555+0.567)/2>0.150>1.477
+(0.567+0.569)/2><0.150><2.106
2 +(0.569+0.271)/2>0.150>0.861
18-8-25BB 0.358 m3
(0.555+0.567)/2>1.477>2+(0.567
+0.569)/2>2.106><2+(0.569+0.271)/2
2 >=<0.861><2
4.773 m2
2 2
D13 SD345 25.323 25.3 kg
2
20><10><15mm 1.477+2.106+0.842 4.425
2
(1.477+2.106+0.842)>=0.18/m 0.443 ¢
2
10><10mm (1.477+2.106+0.842) ><2 8.850 m




1.0

1 3

(0.235+0.233)/2><1.490>1.490
+(0.233+0.230)/2><1.490><3.000
+(0.230+0.229)/2><1.490><1.490

18-8-25BB 2.064 m3
(0.235+0.233)/2><1.490+(0.233+0.230)/2
>3.000+(0.230+0.229)/2>1.490 1.385 m2

2

D13 SD345 64.182 64.2 kg

20><10><15mm 5.980+1.490>2 8.960 m
(0.400+1.490+1.490) ><0.18/m 0.338 ¢

10><10mm 5.980+1.490><2 8.960 m

18-8-25B8 3.480><0.200><6.600 4.594 3
0.200><2>6.600 2.640 m2

RC-40 t=25cm 3.480><6.600 22.968 m2




W=15cm

19.74

19.7




NO.O + 0.92

NO.0 + 18.70

19.74

(™)

W=15cm

19.74




( ) m3 3.9 3.9
( ) m3 4.3 4.3
m3 53.3 53.3

m3 2.1 2.1

As t=15cm m2 934.5] 934.5
As t=15cm 14.1 141
=50 150mm 45.4 45.4

Co m3 53.3 53.3

Co m3 2.1 2.1

As m3 46.7 46.7
kg 83.5 83.5

m3 0.02 0.02




) )
(n2) (n3) (n2) (n3)
@ 43.3 0.09 3.9 0.10 4.3
43.3 3.9 4.3




€Y

) « D
(m3) (m3) (m2)

NO.-1+17.4 0.000 0.

NO.0 2.600 0. 0.20 0.5
NO.1 20.000 0. 0.20 4.0
NO.2 20.000 0. 0.20 4.0
NO.3 20.000 0. 0.20 4.0
NO.4 20.000 0. 0.20 4.0
NO.5 20.000 0. 0.20 4.0
NO.6 20.000 0. 0.20 4.0
NO.7 20.000 0. 0.20 4.0
NO.8 20.000 0. 0.20 4.0
NO.9 20.000 0. 0.20 4.0
NO.10 20.000 0. 0.15 3.0
NO.11 20.000 0. 0.10 2.0
NO.11+10.1 10.100 0. 0.10 1.0
NO.12+2.1 0.000 0.

NO.13 17.900 0. 0.20 3.6
E.P 6.010 0. 0.20 1.2

256.610 47.3 0.0 0.0




O]

>

(€))
.10><0.9 m3 .09

(2)
.06><(2.8+2.8+1.7) m3 .44

3)
.16><2.8 m3 .45

(4)
.13><(1.4+4.5) m3 77

(€))
.22>4.0 m3 .88
.09><4.0 m3 .36

(2)
.41>=7.0 m3 .87

3)
.27>2.0 m3 .54
.09>2.0 m3 .18

(€))
0.40 m3 .40
.55 m3 .55

(2)
0.16 m3 .16
.17 m3 .17

3)
.09 m3 .09
.12 m3 .12
m3 | 6.00
m3 | 2.07




A t=bcm 9345 m?2 934.5
As t=15cm
m?2 934.5
CAD
A t=bcm 33 69 39 14.1
As t=15cm
14.1
As 1934.5>=0.05 m3 46.7
14.1><0.05><0.023 m3 0.02




As t=5cm

(m2)

NO.-1+13.8 0.0
NO.0O 6.2 1 20.1
NO.1 20.0 2 66.0
NO.2 20.0 3 67.5
NO.3 20.0 4 67.4
NO.4 20.0 5 67.1
NO.5 20.0 6 67.2
NO.6 20.0 7 66.7
NO.7 20.0 8 66.3
NO.8 20.0 9 66.9
NO.9 20.0 10 67.2
NO.10 20.0 11 66.7
NO.11 20.0 12 65.8
NO.12+1.6 21.6 13 128.1
NO.13 18.4 14 37.3
NO.13+6.0 6.0 15 14.2

272.2 934.5

As t=5cm

934.5

934.5

m3




VU100

(1) (3.3+3.4+3.4+3.4+3.3+3.3+3.3+3.3+3.3+3.3+3.4+3.3+3.3) | M 43.3
VU150

(2) 2.1 2.1
@=50 150mm

45.4

VU100 1.737kg/m kg 75.2

VU150 3.941kg/m kg 8.3

kg 83.5




